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Std:XII (A-C) FN Chemistry Time: 1.15 hrs
I. Choose the correct answer: S5x1=5

1. The incorrect statement among the following is
a) Nickel is refined by Mond’s process
b) Titanium is refined by Van Arkel’s process
c) Zinc blende is concentrated by froth floatation
d) In the metallurgy of gold, the metal is leached with dilute
sodium chloride solution
2. Crystal field stabilization energy for high spin d5 octahedral
complex is .
a) -0.6A¢ b) 0 ) 2(P-Ao) d) 2(P+Ao)
3. The catalytic behaviour of transition metals and their compounds
is ascribed mainly due to
a) their magnetic behaviour b) their unfilled d orbitals
c) their ability to adopt variable oxidation states
d) their chemical reactivity
4. Match items in column-I with items of column-II.

Column-I Column-II A B CD
A. Zone refining 1. Titanium a4 3 2 1
B. Monds process 2. Lead b2 1 3 4
C. Liquation 3. Nickel c2 3 1 4

D. Van-Arkel 4. Germanium
copper d)1 3 4 2
S. Which one of the following ligand is capable of forming a low spin
as well as high spin complex?
a) CO b) F- c) NH3 d) CN-
. Answer any 5 of the following: 5x2=10
. What do you understand by the term “concentration of the ore”?
. Explain the term leaching.
. Write the IUPAC names for the following complexes:
a) [AgCN)2l  b) [CO(ONO)(NHa)s]>*
9. A solution of [Ni(H20)e]?* is green, where as a solution of (Ni(CN)4)2-
is colorless. Explain.

10. What are interstitial compounds?
11. Why Europium(Il) is more stable than Cerium(II)?
III. Answer any 5 of the following:
12. Compare Lanthanides and actinides.
13. Complete the following:

a) NaxCr207 + Kcl -

b) KMnO4__ A

Red hot
C) CgHsCH3 acidiﬁedI
KMnOg4

0o ~NO =

5x3=15

14.
15.

16.
17.
IV.
18.

19.

20.

What are hydrate isomers? Explain with an example.

Give one test to differentiate (CO(NHj3)scl)SO4 and
(CO(NH3)5S0O4)cl.

Explain the electrometallurgy of aluminium.

Describe a method for refining nickel.

Answer any 2 of the following: 2x5=10
a) What are the main observations of Ellingham diagram. (3M)

b) Write the differences of mineral and ore. (2M)
a) Write the postulates of Werners theory. (3M)
b) Give two examples of coordination compound used in
medicine. (2M)
a) Write the electronic configuration of Ce4* and CO2+ 2M)
b) Explain why compounds of Cu2* are coloured but those of
Zn2* are colourless. (3M)
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I. Choose the correct answer: 10x1=10
1. On retirement of a partner, general reserve is transferred to the
a) Capital account of all the partners
b) Revaluation account
c) Capital account of the continuing partner
d) Memorandum revaluation account
2. On revaluation, the increase in liabilities leads to
a) gain b) loss c) profit d) None of these
3. If the financial amount due to a retiring partner is not paid
immediately, it is transfer to .
a) Bank account b) Retiring partner’s capital account
c) Retiring partner’s loan account
d) Other partner’s loan account
4. X,Y,Z were partners sharing profit and losses equally. X died on
1st April 2019. Find out the share of X in the profit of 2019 based
on the profit of 2018 which showed ¥ 36,000.
a) 1000 b) 33000 c) 12,000 d)I36, 000
S. To test the equity of a concern, which of the following ratios are
useful?
a) Quick Ratio
d) Current Ratio
Select the correct answer using the codes given below:
a)iand ii b) i and iv c)iiand iii d)iiand iv
6. Current liabilities 0,000 current assets ¥1,00,000 inventory
¥20,000. Quick Ratio is
a) 1:1 b) 2:5:1 c) 2:1 d) 1:2
7. Debt equity ratio is a measure of .
a) short term solvency b) long term solvency
c) profitability d) efficiency
8. Current Ratio indicates .
a) ability to meet short term obligations
b) efficiency of management c) profitability
d) long term solvency
9. Contra voucher is used for
a) master entry
b) withdrawal of cash from bank for office use
c) Reports d) Credit purchase of assets
10. In which voucher type credit purchase of furniture is recorded in
tally .
a) Receipt voucher
c) Purchase voucher

b) Net Profit Ratio  c) Debt Equity Ratio

b) Journal voucher
d) Payment voucher

II. Answer the following:

11. State any two limitations of ratio analysis . (2 Marks)
12. Balu, Chandru and Nirmal are partners in a firm (3 Marks)
sharing profit and losses in the ratio of 5:3:2. On 31st March 2018,
Nirmal retires from the firm. On the date of Nirmal’s retirement
goodwill appeared in the baoks of the firm at 60,000. By assuming
fluctuating capital account, pass the necessary journal entry if the
partners decide to

a) Write off the entire amount of existing goodwill.

b) Write off half the existing goodwill.

III. Answer the following: 3x5=15

13. Janani, Janaki and Jamuna are partners sharing profit and
losses in the ratio of 3:3:1 respectively. Janaki died on 31st Dec
2017. Final amount due to her showed a credit balance of ¥1,40,000.
Pass Journal entries if,

a) The amount due is paid off immediately

b) The amount due is not paid off immediately

¢)¥75,000 is paid and balance in future.

14. Calculate the operating profits ratio under the following cases.
Case I Revenue from operations I 8,00,000

Operating profit ¥ 2,00,000
Case II Revenue from operations $20,00,000
Operating cost %14,00,000

Case III Revenue from operations ¥10,00,000
Gross profit 25% on revenue
from operations, operating
expenses ¥ 1,00,000

15. From the following figures obtained from Arjun Limited, calculate
the trade payables turnover ratio and credit payment period (in
days).

Particulars Ed
Credit purchase during 2018-19 9,50,000
Trade creditors as on 1.4.2018 60,000
Trade creditors as on 31.3.2019 50,000
Bills payable as on 1.4.2018 45,000
Bills payable as on 31.3.2019 35,000
IV. Answer any one of the following: 1x10=10

16. Calculate i) inventory turnover ratio ii) Trade receivables turnover
ratio iii) Trade payables turnover ratio iv) Fixed Asset turnover ratio
From the following information obtained from Aruna limited.
Particulars 31.3.2018 31.3.2019
Inventorries 3,60,000 4,40,000



Trade receivables 7,40,000 6,60,000
Trade payables 1,90,000 2,30,000
Fixed Assets 6,00,000 8,00,000

Additional information:

i) Revenue from operations for the year #35,00,000.

ii) Purchases for the year 21,00,000

iii) Cost of revenue from operations 716,00,000 Assume that sales
and purchases are for credit.

17. Rajesh, Sathish and Madhan are partners sharing profit and
losses in the ratio of 3:2:1 respectively. Their balance as on
31.3.2019 is given below:

Liabilities | ¥ 3 Assets 3 g
Capital account Premises 4,00,000
Rajesh 4,00,000 Machinery 4,20,000
Sathish 3,00,000 Debtors 1,60,000
Madhan 2,50,00Q 9,50,000|Stocks 3,00,000
General reserve 1,20,000|Cash at bank| 20,000
Creditors 50,000
Bills payable 1,80,000

13,00,000 13,00,000

Madhan retires on 31st May 2017. Subject to the following
conditions:
i) Rajesh and Sathish will share profit and losses in the ratio of 3:2
ii) Assets are to be revalued as follows:

Machinery ¥3,90,000

Stock $2,90,000

Debtors $1,52,000
iii) Goodwill of the firm is valued at ¥1,20,000
Prepare necessary ledger account and the balance sheet immediately
after the retirement of Madhan.

EVERWIN MATRIC HR SEC SCHOOL
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STD: XII [I, J] (AN) ECONOMICS Marks: 40
I. Choose the correct Answers: Sx1=5
1. As income increases, consumption will
a. fall b. not change c. Fluctuate d. increase

2. The multiplier is calculated as .
a. 1/(1-MPC) b. 1/MPS c. 1/MPS d.aandb
3. Stagflation combines the rate of inflation with .
a. stagnation b. employment c. output d. price
4. ARDC started functioning from
a. June 3,1963
c. June 1,1963
5. EXIM bank was established in .
a. June 1982 b. April 1982
c. May 1982 d. March 1982
II. Answer any S of the following: 5x2=10
6. What is credit creation?
7. Distinguish between CRR and SLR.
8. What is barter?
9. What is plastic money? Give example
10. Define Multiplier.
11. Define Accelerator.
III. Answer any S5 of the following: 5x3=15
12. Specify the limitations of the multiplier.
13. Differentiate between autonomous and induced investment.
14. Write the types of inflation.
15. Explain disinflation.
16. What are the functions of NABARD?
17. Distinguish between money market & Capital market?
IV. Answer any 2 of the following: 2x5=10
18. Explain the role of commercial Bank in economic development.
19. Explain the functions of money.
20. What are the differences between MEC & MEI?

b. July 3,1963
d. July 1,1963
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I. Choose the correct answer: S5x1=5

1. Which of the following are mandatory to write the type
annotations in the function definition?

a) { } b) () o [] d)
2. Which of the following creates an object maps data to a
dictionary?
a) listreader( ) b) reader() c) tuple reader()

d) Dicteader( )
3. The modules which allows you to interface with a windows
operating system is .
a) OS module b) sys module c) csv module d) getopt module
4. Which of the following clause avoid the duplicate?
a) Distinct b) Remove c¢) Where d) GroupBy
S. The sqlites module supports kinds of place holders.
a) one b) two c) three d) four
II. Answer any 5 of the following in one or two lines: 5x2=10
Q.No.12 is compulsory
6. What is subroutine?
7. Write the inference you get from X:=(78)
8. What is csv file?
9. What is the use of csv.writer( ) and write the syntax.
10. What is the use of cd command? Give an eg.
11. What is the use of modules?
12. What is the advantage of declaring a column as “INTEGER
PRIMARY KEY”?
III. Answer any 5 of the following in brief: 5x3=15
Q.No.19 is compulsory
13. What is the use of WHERE clause? Give a python statement
using the WHERE clause.
14. Read the following details, based on that write a python script
to display department wise records.
database name :-organization.ab
Table name:-Employee
Columns in the table:- Eno, Emp Name, Esal, Dept

15. Why python language is called as glue language?
16. How will you access the module function?
17. What is the difference between sorted( ) and sort( ) method?
18. What is dialect?
19. What is the side effect of Impure function? Give eg.
IV. Answer any 2 of the following in detail: 2x5=10
20. Explain pure and impure functions with example.
21. Write a python program to write a csv file with custom quotes.
22. Write a python program to execute the following c++ program.
#include <iostream;
using namespace std;
int main( )
{
Cout<<”Welcome”;
return (0);
}
23. What is the use of HAVING clause? Give an example of
python script.
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I. Choose the correct answer: S5x1=5
1. The blue print for making ultra durable synthetic material is
mimicked from
b. Morpho butterfly
d. Peacock feather

a. Lotus leaf

c. Parrot fish
2. The alloys used for muscle wires in Robots are ______

a. Shape memory alloys b. Gold copper alloys

c. Gold silver alloys d. Two dimensional alloys
3. The gravitational waves were theoretically proposed by ___.
b. Marie curie

d. Edward Purcell

a. Conrad Rontgen

c. Albert Einstein
4. A non-conducting charged ring of charge q, mass m and radius
r is rotated with constant angular speed w. Find the ratio of its

magnetic moment with angular momentum is ____.

a.q/m b. %q C. % d. ﬁ
5. A thin insulated wire forms a plane spiral of N=100 tight turns
carrying a current [=8mA (milli ampere). The radii of inside and
outside turns are equal to a=50mm and b=100mm, respectively.
The magnetic induction at the centre of the spiralis .

a. S5uT b. 7uT c. 8uT d. 10uT
II. Answer any 5: 5x2=10
1. What is the difference between Nano material and Bulk

material?

2. Write a short note on Artifical Intelligence.

3. Compare dia, para and ferro magenticm.

4. State Ampere’s circuital law.

5. Define tangent law.

6. Define magnetic flux.

III. Answer any 5: S5x3=15

1. State and explain Biot-Savart’s law.

2. Explain Magnetic Lorentz force.

3. Calculate the magnetic field inside and outside of the long.
solenoid using Ampere’s circuital law.

4. Discuss the conversion of galvanometer into voltmeter.

5. Compute the torque experienced by a magnetic needle in a
uniform magnetic field.

6. Write any 5 disadvantages of Robotics.

IV. Answer any 2: 2x5=10

1. Describe the construction and working of cyclotron.

2. Obtain an relation for the magnetic induction at a point along
the axis of a circular coil carrying current.

3. Obtain the magnetic induction at a point on the equatorial line

of a bar magnet.
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I. Answer all the questions: 3x1=3
1. Match the following:
i. PBR322 - A. Eukaryotic vectors
ii. YAC vector - B. Lambda phage DNA
iii. Cosmid - C. ampR, tetR
iv. Shuttle vectors - d. Circular and linear forms
i ii iii iv
a. A B D C
b. D C B A
c. C B A D
d. C D B A
2. Identify the incorrect pair:
a. Alkaline phosphate - add or remove phosphate
b. Ligase - Binding the DNA fragment
c. Endonuclease - Cut the DNA at terminus

3. Jaya and Ratna are the semi dwarf varieties of
II. Answer any 3 of the following: 3x2=6
4. What are the objectives of plant breeding?
5. List out any 5 points of the possible changes in the plant
species due to domestication.
6. Mention the applications of SCP.
7. What are Transposons?
III. Answer any 2 of the following: 2x3=6
8. List out the properties of vector.
9. Write a note on Replica plating technique.

10. Explain the steps involved in Hybridization.

IV. Answer any 1 of the following: 1x5=5
11. How are microbial inoculants used to increase the soil fertility?
(or)
Explain the Direct or vector less Gene transfer with suitable
diagram.
Bio-Zoology
I. Answer any one of the following: 1x1=1
1. Expand: a) AQI (or) b) PAN
II. Answer any 4 of the following: 4x2=8
2. Write a note on control of noise pollution.
3. What is meant by chipko movement?
4. Explain on ozone depletion with one effect and give one example of
ODS.
5. What is meant by BioMagnification?
6. Name the Hot spots in India and what is a Hot spot?
7. What is meant by Acclimatization?
8. What is meant by Beta diversity?
III. Answer any 2 of the following: 2x3=6
9. Write a note on Ecosan toilet.
10. Differentiate hibernation and aestivation and write a note on the
type of adaptation to which it belongs.

11. Differentiate insitu and exsitu conservation.
12. Write a note on the forest man of India and his contribution.
IV. Answer any 1 of the following;: 1x5=5
13. Write a note on causes for biodiversity losses.

14. Write a note on Adaptations of terrestrial organisms.
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